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:‘;53,4 Solving Systems of Equations Using Substitution and Elimination

‘ A. Solve using substitution:

. y=02x+10 - _ar=Ky=2
4.0y = 55 : ga+4gb=23 ! 45’:. .
"l)( 1‘5(002X*‘]0)=3S \i: 0.2 (3)+|0 - 4 2 at 5 =2
4y X +50 = 35 - A= 4ot e
54480 =35 NZ 0.6 3(4b+2)43b=3 a* = %
5v=-|5 G bt +3b =3
B. _Ssolve using elim)ination: _ﬁl Sb=" 3 g
3. (2x+5y=8 4. 'B6x-3y=4
()flﬂx+25y=10 3 (§§_5;=_)z) 3""3(2'5%):*
+ 210X "25¢= HO -~z 412y="lb 3y _g2=4
DEGO v 1215y = “lo Ix=20
7o soluhon | -3y =22 3= 20
\{«:_Z_E . z 3
3 (&%)

C. Read each problem carefully. Define your variables and write a system of equations. Solve your system
using substitution or elimination.

5. The admission fee at a small fair is $1.50 for children and $4.00 for adults. On a certain day, 2200 people enter
the fair and $5050 is collected. How many children and how many adults attended?

[.5X +4y = 5050 X=§ emidren 1.5 +4y = SoSo
xqv:'}zoo y=# odutis y T HY -q\l TR8B00
Fsoo cildren ~2.6% = -3350
%00 x‘-‘\SOO
y =81

6. A landscaping company placed two orders with a nursery. The first order was for 13 bushes and 4 trees, and
totaled $487. The second order was for 6 bushes and 2 trees, and totaled $232. The bill does not list the per-item

rice. What is the cost of one bush and of one tree?
Re & aishes Bysdy =upt | _BAHIY=4BT  3@R)edy=4ed

V=trees  Gupoys732 ool dysies
73 busheﬂ 3 y= 43
| 4T trees

7. A movie theater sells tickets for $9.00 each. Senior citizens receive a discount of $3.00. One evening the theater

sold 636 tickets and took in $4974 in revenue. How many tickets were sold to senior citizens? How many were
sold to “moviegoers” who were not senior citizens? ¥

X= # @nior Citizens Y= 63l N=-L+e306

174 not v cihaenr pyeay s4q3y I (X4U30)=HaRy
FO sevier ONEey 01:3‘13(: f:;_ 24 =934
397 s o 0

V=380




